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1. Number Series /Zos33ec8

Directions : Complete the following BRI : L30T BoSRFODMPOR
number series by choosing the correct ROIRT HVZTRTY, BO& 8 FINT
answer from the given alternatives. Ros03eesnPRY, FOLF IR,

258, 155, 2, 39, 14
1) 84
2) 86
3) 107
4) 82

18, 48, 100, ?, 294
1) 120
2) 180
3) 118
4 116

124, 126, 129, 134, 141, ?
1) 150
2) 152
3) 154
4) 151

5,3, 10, 8, 17,7, 2, 24
1) 16,26
2) 16,25
3) 14,24
4) 15,26

NTSE GMAT 1




W | =

1)

2)

3)

4)

59,
1)
2)
3)
4)

14
10

14
11

15
12

61,

67, 71, 73,

?

NTSE GMAT 2



2. Odd one in the Numbe Series / Zos39,3 8000, rvowurt 2ecw Zosd,

Directions: Find the wrong number in RRwSn: 806300 Ferdodd, Smors
the given series. R083,0308), BoBORROWD.

980, 863, 748, 637, 524

1)
2)
3)
4)

748
863
637
524

3,9, 19, 33, 51, 72, 99

1)
2)
3)
4)

19
33
99
72

2, 10, 35, 68, 130

1)
2)
3)
4)

2
10
35
130

NTSE GMAT 3




10.

11.

12.

13.

3,4,6,9, 12, 14, 18
1) 4

2) 9

3 12

4y 3

4, 10, 18, 34, 74
1) 34
2) 74
3) 10
4) 18

5, 10, 26, 50, 101, 122, 170
1) 50

2) 122

3) 5

4y 101

225, 336, 441, 557, 669, 7710
1) 447
2) 557
3) 669
4) 7710

NTSE GMAT 4




3. Number Series / Zos33 ec3

14.

15.

16.

17.

What should come in place of ? mark ?

102, 99, 104, 97, 106, ?

1)
2)
3)
4)

100
95
96
93

Find the sixth term in the following
series 2, 4, 12, 48, 240, ?

1)
2)
3)
4)

What should come in place of ? mark ?

960

1440
1080
1920

0, 6, 24, 60, 120, ?, 336

1)
2)
3)
4)

240
220
280
210

The next term in the series is

2,5,9,19,37,7

1)
2)
3)
4)

73
75
78
80

? T WNEA, T F083,05

Rosoy, Beedcdd 6:e BT

? WHOD PR, 230 F0sF,0300

3,e:30309T 000 B083,0320

NTSE GMAT 5




18.

19.

20.

The missing numbers in the series is
40, 120, 60, 180, 90, ?, 130

1) 110

2) 270

3) 105

4y 210

The tenth number in the following
series 1s 0, 2, 6, 12, 10

1) 70
2) 80
3) 90
4) 100

3,12,37,48,75,7, 147
1) 110
2) 108
3) 118
4y 120

B,e£9030Q, 03 BeeNTO Fosdad0

B ee3030€3 105e T3ey

? WHO WNEY, WIS B0sZ080

NTSE GMAT 6




21.

22.

If the series 4, 5, 8, 13, 14, 17,22 is
continued in the same pattern, which
one of the following is not a term of
this series ?

1) 31
2) 32
3) 33
4) 35

The next term in the series
B2E, DS5H, F12K, H27N, ?
1) 162Q

2) Q62]

3) J58Q

4) J561

RosoBets 4, 5, 8, 13,

14, 17, 22 dsq

&oeriodoe BomBBATT, FForE odrees
R0s3,0300 B,ec80309, WwBORDE ?

8er3c30OR R000s T

NTSE GMAT 7




4. Odd One Numbers / Nt Dosd o

23.

24.

25.

Directions: In the given questions

RRusvo: 85 SIS BIYE BI0eoro xR

there are four groups of numbers/Pair Rosdnisb | weed Zosgned mow), rOOFRIR),

of numbers of which three are alike
and one is different. Find the one
which is different.

1)
2)
3)

4)

1)
2)
3)

4)

1)
2)
3)

4)

64
216
441

729

4,25
6, 49
8, 81

10, 100

1,4,16
2,9,12
3, 16, 36

4, 25, 80

TRUE. ARNTE, [ORTY womo dedadd
ROWOPRIY, BRODTITH.  womd JRT,
wdqmﬂd. wqmnw@dg noéra.

NTSE GMAT 8




26.

27.

1)
2)
3)

4)

1)
2)
3)

4)

4,26
7,94
5,42

6, 63

2,3,17
3,4,34
4,5, 41

5,6, 161

NTSE GMAT 9



5. Analogy numbers / m=3 Hosdnico

Directions: Complete the given analogy ReWSnR : 8eLEHE TSRFONPR
by choosing the correct answer from ROBRT HVZTTTY, BOX. FRWTIT
the given alternatives. AITRBONR, BREFTIRVR.

28.

29.

30.

9:36::16:7
1) 8l
2) 25
3) 64
4) 49

343:8::7 :10
1) 1000

2) 512

3) 719

4) 729

216:81::144 :?
1) 81

2) 100

3) 121

4) 269

NTSE GMAT 10




31.

32.

33.

w|N

2)
3)

4)

7

1)
2)
3)

4)

0\|8

WMo MW

56::9:7

81

90

91

99

m

30

289 :343::7?7: 216

1)
2)
3)

4)

64

196

256

729

NTSE GMAT 11




6. Signs and symbols in Numbers / &o¢ne¢Qs w3 ey Bodeansd

Directions : To get the correct equation, IRWSN: TOXPT FAOFTHY,

choose which set of signs from the
given alternatives to be substituted
sequentially in place of (*).

B30, BResB0 OI0E WHBOK REFIR),
(*) WnnFE, g,wowen sTedTedeso
DOWITIR, TOIPFORNPT DR

34.

35.

36.

34*%17*72*%12*5 %13
nH +, +, -, x, =
2) +,=, +, %, -
3) =, X,4:+, —, +

4) =, +, +, %X, -

2*%6*4 %8 *2*3
) x, -+, =+, =
2)
3)

4) x9=9+9+9

26*% 40*% 20* 4* 6 * 48

2) +s=9+9xs+
3) _s+9+sxs=

4) +s=,xa_9+

NTSE GMAT 12



7. Matrix : Numbers / S5rggnw : Zoadnisd

37.

38

39.

Directions : Find the missing number  Reusned: 3ou00m IRIIRTY, wedd,
in the given matrices of numbers. BRENTOT F0s3,03:3, 3R> SBOWO.

36 10 64
50 11 ?
44 12 100

1) 81
2) 91
3) 71
4) 61

14 8

[E—
N
~N N

2) 24
3) 21
4) 28

16 11 30
? 13 36
32 15 46

1) 20
2) 23
3) 18
4y 24

NTSE GMAT 13



40.

41.

3 73 8
7 85 6
4 97 9
1) 5
2) 7
3) 9
4) 10

126 8

62

244 11 123

337 7

1) 28
2) 24
3) 18
4) 16

81

NTSE GMAT 14



8. Number Sequence / &3 Zosdnish

42. | Directions : In the given sequence  xgwsns 20630033 Ber3030Q WRRoadcd0
how many times an odd number Q) WO 0@ R Ao IR ol
appears between two even numbers.
321437865431389416
1) 3
2) 4
3) 5
4) 6

43. | Directions : In the given sequence BRWSNES: SRYDT Feedod0d, 3803
how many times an even number BRBIOT FToF0sY, DR, WO ATB
greater than 3 appears between %R Ros e SRT woRs.
two odd numbers.

143586765123948125617
1) 3
2) 6
3) 5
4) 4

44. | Directions: In the series6 4 1 2 RRUWRR: R0 Bess 64122874215
2874215386227 14 3862271413586 - Q©0S 03RRI
13 5 8 6, how many pairs of 2TRB> B> R SBIS BF3 2
successive numbers have a SNTOR Rosd, wipeants F0a3030
difference of 2 each ?

1) 4
2) 5
3) 6
4) 8

NTSE GMAT 15




9. Numbers with Diagrams / :33n¢Q 2os3ne Zowes

45.

46.

47.

Directions : The questions given
below, the numbers are in the figures
are related. Identify the relationship
that exists among the numbers in the
figure from among the given choices
under each and find the correct
answers from the given options.

RAWINATY : FI00W JeRTOT T,ZNW,
WI,NFHS FoB,non TowoRATANT.
SYIOVET FoLNTd oW JOFR,
RoWOGIRR, BPoREN. TBoSeomd BN
Xoad,nensos #ouoqﬁddoq FOBO HLRWD,
ReRTVIT BOIRF RN, TOWRBOBI,
03 =B,

12 | 16
507109
2131|415

1) 22

2) 24

3) 26

4) 28

715 5 | 21 4 | 24

6 13 ?

1) 18

2) 16

3) 14

4y 12
7 11

21219 4131010 (18] 212
9 9

1) 7

2) 6

3) 5

4y 1

NTSE GMAT 16




48.

49.

50.

>

1) 15
2) 17
3) 25
4 27

>

1) 415
2) 417
3) 425
4y 427

1) 123
2) 145
3) 171
4) 198

NTSE GMAT 17



10. Number pyramid / zosdne Recgoegs

Directons : The following questions zmw@nsd : 85 39AI DI oD JDOFR,

are based on the numbers and letters

the pattern and complete the given
analogy.

DTURTQ, WReBATOT Fosd,Ned =0y
arranged in a particular pattern. Study egondl) sgors. 8 amIWRY, NRoRL
BoedtOR mdaaéﬁ@ﬁ%mmrﬁm%.

51.

52.

10| 11

1211314

15

2916 :613 20 ::

1)
2)
3)
4)

=
| o | | N
ey

19120

4 11 18
512 19
1 411
519 12

31017 :

8L17:D9M::5114:7

1)
2)
3)
4)

6J 15
4 H 13
C5H
Co61J

?

NTSE GMAT 18



33.

B3E8:8L17S::7

1)
2)
3)
4)

B 5114
C617J15
14158
1C61J

: 14 P 19 S

NTSE GMAT 19




11. Number Pattern / Zosin¢ t2ncces

Directions : The following questions are ZewS8n : 33 FINT JFRT 2,000
based on the numbers arranged in a
particular pattern. Study the pattern
and complete the given analogy.

DOFR DTYIBE 2oeBRTIEI BT,
STORT. B8 z:'?.raecs’ﬁommq NwWOJR
ﬁm%dad mdoda"r{#ag TPREIFRADA.

4.

3S.

1

2

3

4

5

6

12

11

10

9

8

7

13

14

15

16

17

18

24

23

22

21

20

19

25

26

27

28

29

30

36

35

34

33

32

31

311 13:242634::4818:7
19 29 33
18 20 28
20 28 34

1)
2)
3)
4)

12 14 22 : 24 14 10 :: ? : 21 17 7
917 19
19 17 9
22 16 8
10 16 20

1)
2)
3)
4)

7 17 21

NTSE GMAT 20



12. Letter Series /e«sgne 3
8

Directions : Complete the following  Zeusnsb: 80835 Todmrodneon IOCRT
letter series by choosing the correct NZTTTY, BOr. FINT 8T B erdneay,
answer from the given alternatives. TPREIFTRRDR.

56.

37.

38.

H LEK? N,Y,?, T, WN,C
1) D,S
2) C,R
3) B,R
4 C,S

E,C,F B, GA H?,I
1) D
2) Z
3) J
4 K

B,E, G?2J, QR 2V,Y
1) H S
2) LW
3) HT
4 LT

NTSE GMAT 21




13. Relation between letters with numbers according to the rule

Directions: The following questions
are based on the given matrix. The
value of each letter is the product of
its row and column numbers.

The value of letter N = 4 x3 = 12
[Represent row and column value.]

RRWINT0: [OT WINE, JeRTIH
BRZFoR, BHEORTS. B PSR WS
VBT 0B FoWRW RRWION Jodnd
ROEIVOINTIZTS.

0BE NS KBSC0N = 4 x3 =12

59.

60.

61.

21314
2| B M| T
31A|E|O
4 |G| N|P

Find the group of letters with
lowest total.

1) BOAT
2) TAME
3) GATE
4) TENT

Find the group of letters with
highest total.

1) ATPOG
2) BMNET
3) PEGNO
4) MAETB

As per the direction given,
sum of the letters "ABGENQO" is

1) 6l
2) 57
3) 51
4y 41

08 RO BRTI), RRWRS TR R0

98 B, BRZD, ARUROR TENE MooP)

AeRTOT ATFeFITod  "ABGENO"
TB RRVROS VR

NTSE GMAT 22




14. Letters : Odd one / gmncos wggns moz)

62.

63.

64.

65.

Directions:
questions there are four groups of
letters of which three are alike and
one is different. Find the one
which is different.

1)
2)
3)

4)

1)
2)
3)

4)

1)
2)
3)

4)

1)
2)
3)

4)

AZBY
FUGT
KLPO

XCYB

CAT
LEG
JAM

KIT

CEHLQ
LNQUZ
SUXCH

WYBFK

MANMZN
CATXZG
DOGWLT

FOXULC

In

RRURnsL: 83 39N BINYY, T8 0deortodon
oL, BPONY ROoPRIR, 8BRS, BRNYY,Bwedd
20T DeS03 ROLOGITR, BRODTITES 20 o)
B8, PFONTIZR. PIFNTORYTR, 1OTISR.
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15. Analogy : Letters with Numbers / zos3 : esggnivd sz Zosdne w3

Directions: Complete the given
analogy by choosing the correct
answer from the given

alternatives.

RRWSMW: BrLISHE BSRFONPE BOCIRT
QU TDT, BOA, FRWTON BIT/Fo,Ne

mdaesé’o:bdgl TPREIFRADR.

66.

67.

68.

69.

1) CAT :576 ::DOG:?

1)
2)
3)
4)

667
656
625
676

DCOAGT : WXLNTG :: FROAXT : ?

1)
2)
3)
4)

WXYZ : DCBA :: JKILM : ?

1)
2)
3)
4)

VELNCG
VILZCG
UILZCG
ULEZCG

NOPQ
ONQP
QPON
QOPN

CEML : QSVZ::?:PRUY

1)
2)
3)
4)

BDKG
BKGD
BGDK
BDLK
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70.

71.

72.

73.

ABCD : HGFE : : STUV : ?
1) WXYZ

2) ZYXW

3) VUTS

4) OPQR

GPE : HTL : : ONM : ?
1) PQR
2) ORS
3) PRT
4) RTP

APOC : ?::ITSK : MVUN
1) DRQH
2) EQRH
3) DRQF
4) ERQF

GOLDEN : LOGNED : : SILVER :
1) LISRVE
2) LISREV
3) LISVER
4) SILREV

?
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16. Letter Coding / SO Togersd

74.

75.

76.

If BENGALORE is coded as
15R1T14Y2E22, then TUMKUR
can be written as

1) G8Z24HS
2) G6N16F9
3) 7H26X8E
4) 7TF14PF9

If ABC is coded as 6, EFG is
coded as 210 then JIM can be
coded as

1) 1134
2) 1132
3) 1710
4y 1170

In certain code language 'SPANK'
is coded as PSNAK. So,
THROW can be written as,

1) HTORW
2) HTWOR
3) HTWRO,
4) HTRWO

BENGALORE ea’oq 15R1T14Y2E22
QOO Fovedarnd TUMKUR eﬂa’o‘% ent
W3BODWROTD.

20T RoBe3w BgoS ABC &, 6 20w, EFG
eﬁoq 210 Qom0 WBT JIM eafoq Len
W3O WROTD.

20T DQFR, RoBeBRY, SPANK = PSNAK
20T W3TS, THROW aig* wdo:bu%omhd%
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77.

78.

79.

80.

BELIEF is coded as AFKKDI,
then SELDOM is coded as,

1) TFKENP
2) FDKCNL
3) RFKENP
4) FKFNPN

PLAYER is coded as ROEDKY,
then HOCKEY is coded as

1) PRKFGP
2) GPRKFP
3) JRGPKF
4) RPJKEF

HEATER is coded as KBDQHO,
then COOLER is coded as,

1) FLRIHO
2) FLIRHO
3) FLRIHV
4) FLRIOH

RAVE is coded as SXWB, then
SCAM is coded as,

1) TDBO
2) TZBJ

3) PZXK
4) TUXK

BELIEF R AFKKDI 0w ogesads
SELDOM, Bc8¢33),

PLAYER a‘oq ROEDKY »0o30 wITT,
HOCKEY o3 Ro8e35y)

HEATER Q#oﬁe@idd@q HBDQHO <0z
wBE38, "COOLER" & Rodeasy)

RAVE &) 0t SXWB zoge3ad), 2853,
SCAM & Rogesx)
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81.

82.

83.

84.

MAGIC is coded as PXJFF then
LEASH is coded as

1) PBDVD
2) OBDVL
3) OHEOK
4y OBDPK

FLOWER is coded as 79, then
GARDEN is coded as

1) 39
2) 42
3) 49
4) 52

CRY is coded as MRYC then
GET is coded as

1) MTEG
2) MGET
3) MEGT
4) METG

AGENT is coded as 56347,
CANDLE is coded as 154893
then GLANCE is coded as

1) 695314
2) 563894
3) 638459
4) 695413

MAGIC 3 7083y PXJEF, w33, LEASH,
S RodeSR),

2080 JOFR FoFezgtnd, FLOWER 0,
QR0WO 79 Q0W0 WIWTF, GARDEN
#oﬁemﬁgd)

CRY =, MRY Cedondd Re8e889 wind, GET
S Rogesny)

AGENT & ®0o3¢3 56347, CANDLE & Ro3¢3
154893 5338, GLANCE & 3083w
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85.

The word "EXAMINATIONS" is
coded as "123456375869"

A) The code for EXIST

1)
2)
3)
4)

B)
1)
2)
3)
4)

C)
1)
2)
3)
4)

D)
1)
2)
3)
4)

25986
27159
34512
12597

Code for NATION
723867
856278
637586
623546

Code for INSTANT
5697367
6593257
3672376
1242354

8465 stands for
SAME

MEAN

EMIT

OMNI

"EXAMINATION" 39, Ro¥e3wq,
1234567375869 0t w3c0enns.

EXIST < Roge3:d)

NATION & Rode3ay)

INSTANT & =Rode3y)

8465 RRUWRT DWE MO0).
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86.

87.

88.

E)
1)
2)
3)
4)

9737586
IMITATE
STATION
MENTION
ANIMATE

If MOHAN is represented by the
code KMFYL then COUNT will
be represented by

1)
2)
3)
4)

AMSLR
MSLAR
MASRL
SAMLR

In a certain code GALIB is
represented by HBMJC, TIGER
will be represented by

1)
2)
3)
4)

UJHFS
UMIEF
JHUSF
HUJSF

If SCAM 2011 is coded as
TEDQ3122, then how TREE
4233 will be coded ?

1)
2)
3)
4)

UTHIS5344

TUHH4122
HMTU4122
THHUS5344

9737586 RAIROW TWX 1O

MOHAN 5.)0( KMKYL 0% Roge3né)
R3S, COUNT < Rode3wy)

20T OFR, Bo8eITTRY, GALIB 0,
HBMIJIC 2000 3pwawd, TIGER &

RogeSR)

SCAM 2011 TEDQ 3122 0% 2333,

TREE 4233 03 Z03¢3%)
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89.

90.

91.

If GZWREF is coded as BURMA
then how LIWRFSD will be
coded ?

1) HUNGARY
2) GERMANY
3) SINGPUR
4) SOMALIA

In a certain code TEACHER is
written as VGCEJGT, the code of
CHILDREN will be

1) EKNIJFJGP

2) EJKNFTGP

3) KNIJFGTP

4) None of the these.

In a certain code MATURA is
coded as JXQROX, the code of
HOTELS will be,

1) LEQIBP
2) ELQBIP
3) LEBIQP
4) ELIPQB

GZWRF ) 3o8e5o80n$9 BURMA 03
WBOHWIIRD. =3 LIWRFSD T Rodedzm)

QOFF, FoTezgUnd TEACHER &9,
VGCEJGT o308, wade Roe3nd), wdmen

20T DOFFRoBeTTBY, MATURA 5=,
JXQEROX 0 wdxd, HOTELS &
Roge3z)
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92.

Find the missing letter in the
given figure.

1) N
2) O
3) P
4) Q

SI0a3 IBBY, 430, BAENTS YTHR), o>

&8BC00.
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17. Letter Coding and Decoding / egony Zodeans w33 wmms

Directions: The words are given
under column-I. Their codesa are
given under Column-II, without
following the same order as in
Column I. Find the codes for the
letters of words in Column I and
also find the codes for the given
words/numbers in the questions.

RRBSNR: Bol 8 391 STRP Breds. B3 BEnY
Roge3ne) oz I1 6 8oed3. 83 Fogesneh oz
[ BENLYTOT LFTNIR BR0FRTNY,. Foy
I8RO DR egonen Fodedn), ForEdGRTD
BINIY, 083 TRt /Zosdnient JodedD),
e,

93.

94.

Column-I
DOG
ROPE
PIT
GOAT
EAGLE

GRIP
GRAPE
1) 37465
2) 37564
3) 43756
4) 34756

PARROT
1) 547792
2) 574429
3) 754492
4) 572449

Column-I1
213
4526
059
3792
67368
4035
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9s.

96.

GREAT

1)
2)
3)
4)

34679
36479
43697
46397

For Practice

1)

2)

3)

4)

5)

PLAYER is written as ROEDKY
HOCKEY is coded as

PLAYER is coded as SIDVHO
HOCKEY is coded as

PLAYER is coded as TPECIV
HOCKEY is coded as LSGOIC

PLAYER can be written as QNBAFT
HOCKEY is written as

PLAYER is coded as VQEBGS
HOCKEY is coded as

e;az;%xa%n

PLAYER Ri?*ROEDKY Q0T WITT,
HOCKEY o3 Rogeasy)

PLAYER & SIDVHO @0z w3a3,
HOCKEY 03 Zo8e3%)

PLAYER d.?* TPECIV 20z 2333,
HOCKEY 03> 30863

PLAYER Ri?* QNBAFT®0w w333,
HOCKEY o Rogeasy)

PLAYER Ri?* VQEBGS 0w w33,
HOCKEY o Rogeasd)

NTSE GMAT 34



18. Letters Pyramid / edgne Reegjoeds

97.

98.

99.

Directions: The questions given
below are based on the pattern group
of letters in the pyramid. First and
second group of letters have the
same pattern as that between third
and fourth group. Study the pattern
and find the missed one.

BRwSned: 81 39n Erutom BInied eIonY
ReHoogEolRY BTWoNAT. wormde [T
HTBIe ©9FT ROOTEd 2.0 a’dméodo#:g{
IO, wKde Fedabmy 33 @) 43¢
Moo FOND Beotds. FBBORRMOTOEX,
) BreeNtoss g rbozd BomdROND.

u v W X Y

b

€| f

1 k|1

q|lr|s |t
z|a|c|c|d

acg :hnv::bfl:?
1) Id
2) ksc
3) jib
4) kst

acgm : bflt : : dhnv: ?
1) eksc

2) djb

3) flitd

4) eksd
goy:?::lrz: jpx

1) hpz

2) jrb

3) ksc

4) iqa
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19. Letter matrix / wgony =xgs

100.

101.

Directions: The letters in the matrix =~ RewSnw : LSO BRFFOYT LTTNRWD 7
have a specific relation in rows and 70 JOBY FoWFPLINTY, 2.0BO IOFR,
column. Find the relation and RowoRR), Beod!. & FoWOFRIY, ROTIEX

answer the questions. BR630OR TBRer wv3dn.
b|e]|?
d| ?|m
ni|?|c
T|O|W

The letter missed in the first row BRB VRHOBY FBOSRNTT 83 c3Rr0?
1) d

2) h
3) g
4) i

The letters missed in the second 2 Fe FoTOTY, FORBRNTOT $FTNTD

column. oI ?
1) a,i
2) i,e
3) cg
4) i,d

NTSE GMAT 36



20. Statement Problems /@2 B34

102. | Six boys are standinginarow. D &5 858013 20w O3, R08m8. Doso
is to the left of F, C is in between gy QTS BT Cosd A 3033 E oo IR0, 538
A and E, but not by the side of B. ~ Bag> w9 dogtbamney, B osw Eob woeng
B is to the right of E and next to  m3np Doy TEDYTS. ©n FOT HTER
D. Who are standing on the  ge3n¢® cdndd osdoegs 2

extremes ?

1) CandD 1) C=RD
2) FandB 2) F&%B
3) EandD 3) Ex3D
4) AandF 4)  ARDRF

103. | 5 boys participated in a running 5 BPUFED 2,08 LT IFFODYZR. SLEBFID
race. Alok ran faster than Suresh.  R08eZdN08 LT Fo0OTFY. FoTeBT0
Suresh ran faster than Prakash. B,FOBIN0T DOOATFY. BEREFID T NoZ
Alok ran, behind John, Kaber ran %83 200530, 80edx exdnes® 308) 2ode33
between Alok and Suresh. Who  S@0&@ e300, on 030t aQdN08 WiTY,

was faster than all ? Ro00t3 [T.
1) Suresh 1) RoZe3
2) Kabir 2)  8ec
3) Alok 3)  ode
4) Prakash 4) I
5) John 5) e
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104.

Five students L, M, Q, T, Z are
sitting in a row. T 1s on the right
side of Z; M is on the left of Z but
on the right of L, T is on the left
of Q. In which order all the five
students are sitting ?

) TTMZLQ
2) LLMZTQ
3) MZ, T,QL
4) T,Q L MZ
5 Z,M,L,Q,T

LM, Q, T, Z 20w 5 QmRRFTED 2,000 oS,
Bo98RY. Todw Z3 WY B09ems. M
ROWOTIO ZT HBWYenE, 8T L woynnd
B9800z, Todo QS SBYNE BowetIzs. &N
31 5 QRPN 3T ZROT 308302 ?

1)
2)
3)
4)
5)

,M,Z,L,Q
LMZT,Q
MZT,QL
T,Q LM, Z
Z,ML QT
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21. Blood Relationship/ Zewega @3ns

10S.

106.

107.

P and Q are brothers, R and S are
sisters. The son of P is brother of
S. Q is related to R as

1) Brother
2) Uncle
3) Father
4) Son

Amit is the son of Rahul. Sarika,
Rahul's sister has a son Sonu and
a daughter Rita. Raja is the
maternal uncle of Sonu. How is

Rita related to Raja
1) Sister

2) Daughter

3) Niece

4) Aunt

A man painting to a lady said,
"The son of her only brother is the
brother of my wife." The lady is
related to the man as,

1) Mother's sister
2) Grand Mother
3) Mother-in-law
4) Sister of Father-in-Law

P 2033 Q RBReBTD, R 3023 S Zxd0erk800303,
P 03 o S & XX eeBTINTS. TS, Q
11 R3RoQANDT Fowoy

1 ptsoipigate]
) v
el
=on

(VS )
S S S N

F'S

L30T TORVTR WoN. TITOCFT 30N TOTLN
RO DO 2y WONITIS B0 &07esd Deeso.
TOHRI AR RRTT RRTIWIN OeED,
TN DToMeesd ?

1)  Zon

2)  orsd

3)  Reerd A
4 U

W R WBTYTR DodPoD) ZROROTY, BRY
wSe T BN, B BoBSOK SITONTRS.
TIMOTT &8 &P & FT ATOE FoWoGeR)

1) FOOCID ABRETO

[ ]

) ey,
) e
)

BRI 30N

(V8

4
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108.

109.

110.

P is the father of R and S is the
son of Q and T is the brother of P.
If R is the sister of S. How is Q
related to T ?

1) Wife
2) Sister-in-law
3) Brother-in-law

4) Daughter-in-law

A girl introduced a boy as the son
of the daughter of the father of her
uncle. The boy is related to the

girl as :

1) Brother
2) Uncle
3) Nephew
4) Son

Now Raju is 11 years old and his
uncle is 59 years old. Before how
many years his uncle’s age was 7
times of Raju’s age ?

1) 10 years
2) 5 years
3) 3years
4) 6 years

P R 8 Sodcinnmmd. S, Q & o,
T 03 P 030 380¢30R, SIRBRBOERTT,

Q &) Todb Roworw)
1) ToBd

2) S0

3)  KRWI

4) AR

1 FOTINGDD, BOBOTRRY BFR> 33 WHN
Bosad Bonte Fon @R BoWWROTY.
TRES R, BB 0B RotoR 2

1 RBRIT

238

o w

)
)
) Reekoecd
)

[\

(98]

4) 2n

BN CORT WORY, 11 VRN 0y s
WBTR WODRD 59 SRFTED. R RN 8083
TonR WEBE FODR BRS WodR,1TR) 33?
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111.

112.

A drunkard walking in a narrow
lane takes S5 steps forward and 3
steps backward followed again by
5 steps forward and so on. Each
step is 1 m long and requires 1
sec. Find how long the drunkard
takes to fall in a pit 13 m away
from the start ?

1) 35sec.
2) 37 sec.
3) 40 sec.
4) 38 sec.

A Man started walking from his
house towards south after walking
6 km, he returned to his left and
walked 5 km. Then he walked
further 3 km after turning left. He
then turned to his left and
continued his walk for 9 km. How
far is he away from his house ?

1) 3km
2) 4km
3) 5km
4) 6km

20T 0TV WOOCE) VRGBT BOBITI 5
2 B0038 IBHS 3 B, doots S0z, I 5
B, ®0o8 3 B, 08 BRITY SBOINETR.
Bé Tt wBowon 1 m BRTIR), 1 FFoRIY,
T,0ROTYS. ToT0 BRTW IFDOT 13 Qoe.
BRTBEOTIT MO0RODY, WePLO BTSO WY,
R0 IRBBARES.

%2 T3 B3 ROTON0T LT BRTED 6 $.80€.
BRTC BT 0BT BF HWE 3TN 5 8.0
SBe30ZE.  F0BT WF W STON 3 .20
SBoX0TS.  FoIT BoBRY, BF HBE 83N 9
8.20¢. BT FOBT, W B3 WOSOR0T BRI
B0

3 d.e0¢.
4 3.e0¢.
5 &.e0¢

6 3.c0¢.
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113.

114.

115.

One day Prakash left home and
walked 10 km towards south
turned right and walked 5 km,
turned right and walked 10 km
and turned left and walked 10 km.
How many km will he have to
walk to reach his home straight ?

1) 10 km

2) 20 km
3) 15km
4) 30 km

Anil after travelling 6 km towards
East from his house realised that
he has travelled in a wrong
direction. He turned right and
travelled 8 km to reach his office.
The straight distance of the office
from his house is

1) 14km
2) 12km
3) 10 km
4) 20km

A father tells his son “I was 4
years elder than of your present
age when you were born.” If the
father is now 36 years of age, how
old was the boy 5 years ago ?

1) 12 years
2) 10 years
3) 15 years
4) 11 years

20T OF TFOTI BT ROFWoT waeag 10

3.00¢. IBW ToTT WOE 8TON 10 B.20¢.

SEo30zE.  FoT @@ TN 10 $.20¢.

SBOI0TS. TIMES B B Wod PO
WS Jedwon Beenuiesond) 3Rl

BRTR)

1 10 3.e0¢.

20 3.e0¢.

15 3.20¢.

30 3.c0¢.

(VS IR )
N’ mmar”  mm”  wama”

S

VROR FPVFE 6 8.00¢. IBX Io3T R
Bann DS Se80308T[owd 9T, Wed STON
8 $.20¢. BAOR, BT, FFOODT), BLOIT.
TGS 9T e3¢0 TR WOSNTOR F¢T BRTR)

1) 14 3.20¢.
2) 12 3.20¢
3) 10 3.e00¢.
4) 20 3.e0¢

22 B0t SN Tesbzs, Qe TWmon I
W3R BN B FODRNOB 4 TR 20y BB "
Bor3odd BN BRI 36 TR STT 5 SRS
80T O ORI, W) B33 ?

1} 12 IRnsd

3) 15 IR

11 SR

)
2) 10 JRFAD
)
4)
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116.

117.

118.

Present age of father is 28 years
more than his son’s age. Father’s
age becomes 2 times of his son’s
age after 20 years. Then what is
the present age of the father ?

1) 36 years
2) 38 years
3) 8 years

4) 28 years

A, B, C are cloth merchants.
Merchant A visists a village once
in two days. Merchant B once in
3 days and Merchant C once in 4
days. If they all visit the village
on Wednesday, when do they
come again to the village ?

1) Sunday
2) Monday
3) Tuesday

4) Wednesday

A train starts from Bangalore at
8.15 pm and reached Gulbarga at
10.30am of next day, what is the
duration of the journey?

1) 10.45 hrs
2) 11.30 hrs
3)  13.15 hrs
4) 14.15 hrs

Bt Bocsed FodRy, St FoaNod 28 IRr
SBeags. 20 SR 038 Borsad> FasRy, i
o3 20mES, Bosodd BN Bodd W 2

2,00 BLORT), A 202 2Ed TITHO0I0 2 DFERER,
B 02 208, 539,30000300 3 FERY s C 08

203 Z3R,T00000 4 DIBREN) Bers DeRTT. Torows
200500 &3 BT 43S DR 3 W wTON 0

0353 o0 ©Tde DY yets DerdzB?

20830 Feo BonTRdROT Tod, 8.15530kr BT
ﬁwprd&q OO 2397, 10.30530831 BL0QTT,
B,oR0eaT AT FTOZTS ?

10.45 30

11.30 30

)
)

3)  13.15 o
) 14.15 o
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119.

A person travels from A to B at
the rate of 30 km/hr and returns
from B to A at the rate of 20 km/
hr. What is his average speed from
both the journey ?

1) 25 km/hr
2) 24 km/hr
3) 22 km/hr
4) 20 km/hr

202 BOBOTEO 0000%3 18 FPoedrt 30 8.Q0¢. Wenn,
BeN 0200z3 1§ ol 20 3.50¢ BenTE) oY,
BT, R 2433 T,0376083 BOIRO HenSR) ?

1) 25 8.80¢. /30
) 24 $.800/o

3) 22 8.00¢ /g0
)

20 8.Q0¢ /0
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22, Statement and Decisions/ Seognsh =3 Semransd

120.

121.

Statement

1) All parrots are pigeons.
2) All pigeons are peacocks.

Conclusion/decisions

1) All pigeons ar peacocks
2) All peacocks are pigeons

Options
1) Conclusion 1 and 2 follow.
2) Conclusion 1 only follows

3) Conclusion 2 only follows

4) Conclusion 1 and 2 does not follow.

Premises

1) all dogs are mammals

2) No cats are dogs

Conclusion

1) No cats are mammals
2) Some cats are mammals
3) No dogs are cats

4) No dogs are non-mammals

Options

1) 1) Only

2) (1) and (2) only
3) (3) and (4) only
4) (2) and (3) only

BevdNned

QR NENH T2OTPNT
RO TOOTTED FOLONEL

Reorodnshd

RO NPTIED Teonsd
RO FRINR TOTIPNEL

03N

edFodd 1 0B 2 LR0R0ROIT.
QeaF o 1 BN, WIVROROIT.
QeIF O 2 WRS, LIVIOROIT.
REFFOR 1 303 2 BRI,

RevdNed

RO TN RJINL
BN, ToodNTe.

QeaFoddnsd

weoned IFANTS,

o) BIBNEb g, BI/ND
DOONE WBNYY,

C3RE)Te TPRNH FFINTEY,

esos%ﬁe;b

BT 3eoerS XD
13032 - 30
334 - 3D
23283 - RO
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122.

Statement

1) All books are tree.
2) All trees are lions.

Conclusion

1) All books are lions.
2) All lions are books.
3) All trees are books.
4) Some lions are books.

Options
1) Only II and III follow.
2) Only I and IV follow.

3) None of the conclusion follows.

4) All conclusion follows.

BevEN

DR, PN, WM.
DR, WOTNLD, AoBME.

Rearodonsh

DR, TYIFNEL AoBMFINGS.
DR RAOBNEL PRBNE0.
DR, BTN PRBNED.
BOR) ROBN JHFIND.

B3N

I 533 11T ROCERATS.

13033 IV 30c3nnd.

C3RE)Te SeREIN ROCPNY,
RO SCTIFINEO FOOIRNGS.
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23. Venn diagrams / S32°g wgnid

123.

124.

Directions: The following venn diagrams show the relationship among the fouq
given objects. Indicate the appropriate diagram to show the relationship.

Raudiric: S 891t dos3rhos oD, Bosner Ao Fowor B e HEnd Aeurgs
ROOSRT SR SRy, A

Wild animals  Carnivores Elephants Tigers

FROTYRRD RROTTHONT 3w BoOned
1) 2) Q i)_ 4)
Vegetables Food Raddish Hen Egg
oTednsd SG=ple] FoRwoA Bpevainel

b

Z)O 3)O 4)
% © © @
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125.

126.

Directions: Questions that are
given based upon the diagrams
given below. Each circle
represents one item irrespective
of size. Match the figures with the
items in the qquestions on the
basis of their relationship.
Identify the correct answer and
mark its serial number on the
answer sheet.

© ® &f
(A) (B) (©)

Crocodile,
BRR,
1) B
2) C
3) D
4) E
Players,
Sixanleleol
1) A
2) B
3) C
4) D

BRWSN: §o800T TINRT 89t g3
S33nIR) wRvowE. Beodeomd FIRp wmd
o3Re MO WAL Lord LoBR) eI,
BIRLER Fesne) wFINSAHS woBnen Beoda
Rocing evgon gadmossodm) evgd BB,
AR,

Cs

(F) (F)

Lion, Eagle

R0, B3,
Cricket, Tennis

88, 6T
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127.

128.

129.

1)
2)
3)
4)

1)
2)
3)
4)

1)
2)
3)
4)

o o w » m o w »

o om w >

Actors,
[

Furnitures,
ReBRETFTLAND

Yellow,
=l

Dancers,
Joodd

Table,
WOCTD

Roses,
oY

Singers
Gepleblgnieled)

Door
woNeD

Dresses
ROTYNSd
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24. Number of diagrams in a given diagram /
SRV UMY, WWITNTOT WZN Tosd

130. | How many triangle are in the BRU00R P AT SRR ?
given figure ? ¢ ¥

1) 39
2) 37
3) 38
4) 36

131. | How many squares in the figure ? BRLIOT 530N SR JAF Y ?

1) 31
2) 30
3) 32
4) 34
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132.

133.

How many trapezium are in the
given picture ?

1)
2)
3)
4)

How many quadrilateral are in the
given picture ?

1)
2)
3)
4)

ﬁraé,idad 830306 &

12
16
15
14

0o 3 N W

&
XS
o

B N9I9?

BRLISOR GBI R WROGFWNTS 7
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25. Intersecting figures / ¢3etms 308 wgnwd

134.

Directions : The following Rewsrivh: 33 39N FBrish 8oe3tha efenroR
questions are based on the given Y INIR BTORI.

intersecting figures.

11
> /

6

7/10 s\ 8
v [ AN

11 13

I Set of Kabhaddi players 823, 8rdRST Ned

I Set of Kho-kho players BRedRe SBOTHT e

III Set of Volleyball players TN BRIBRT New

IV Set of Cricket players 3887 @0e3R0 ned

a) How many player play B0 3R et et SEROTT Bosd, HF),?
Kabbaddi and Kho-kho.

1) 15 2) 8

3) 23 4)y 14

b) How many players play 336 SROTST Bosd, ), ?
cricket ?

1) 40 2y 11

3) 29 4y 19

c) How many players play only DOt BR3, SERST Foad, o) ?
volleyball ?

1) 14 2) 29
3) 13 4) 50
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135.

The number of players who does

not play Kabbaddi.
1) 45
2) 48
3) 49
4) 50

%5 SEIHT Roas, e 2
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2N SHI0S BINW

Questions based on Figures
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1. Figure Series / 43 3c:3

Directions : In the following questions consists of series of figures which
are incomplete. In order to complete the series, select the correct figure from
the given choices.

RRURND: VROT BINIY, FANG Ferdndsy BeBeoN. BT Fpeer Ferdoddy, T
BIoDYT B eed oo Fpear RevAed Bridtoss Soe, Todnr obdned FORERR), 03 BRa.

5 1 ¢ ' slx|o] * | A
D 4 S Clo o B Y = la A *
1 2 a4 5 @ b &) @ (&
xXI x [O0X |[Ox [Ox X 0 X X X
e} = | O e ,
= = = = =0 |= X = = =
1 2 3 4 5 {8 (k) {c) (d) ()
= /INA O/\ %, = A A YAy A / C 4
XXAIEXXIAX @@ X =|C XA =XNE X=X CNXEIAX =
0 =N/ AN/ C N\ AN/N
1 2 3 ¢ 5 {8 ] (¢} {9 {®

Tz 3 4 5 @ ® © @ ®
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2. Figure Analogy / ugn¢ w3

Directions : In the given questions, there is some relationship between the

first two figures. The same relationship holds good for the second set of

figures of which one is missing, Find the correct answer from the given options.

BRWIND: AT BINWY, BEc3rord BFdehe BB HOR INYR Joword.

[Ee BOWOGNTT ST SFANLY 2003 ERLIFOY, BRLDE &0INPYIocINT LB,

s0HRRA.
[

7
W

i

&

$X

7

1

1

(aJ

- (b}

{c)

{d)

{e)

,

>

3

(a)

®)

(c)

()

(e)

o | ¥
_1 2
S | et
1.2

s 37 W L *

o ® © e 1§
@ ® © @
@ O © @
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3. Hidden diagram in a given diagram / 2e2chs w380 ememnos 33

10.

11.

12.

13.

14.

Directions : In the given figure, the figure is hidden in the given 4 options.

Find the figure in which hidden part.

RAulne: DeRTOR WINFY,, DeBTL BTN Do), BUINTQ 1.0T0Y WRFZONS. TMTT

3R Bo3EY, & 133, VWINT D0Rd TR SBCWO.

b

=

ﬂ>\

X (a) (b) @ -@)
A\l |AAAA
%) @ ® @ ()
N BIRRIEIX
) (a) (b) © (@
ANV A PEN AT
(X) @ ® . @
- |

AT

)

(d)
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4. Hidden Part /ezsmmncys on

135.

16.

Directions : These questions are based on the following figure. Consider the
figure and answer the question that follow it.

Ratdnivd: 2 Tt Deat 1EER UEoATES. BERR RV DERTHR T Lugor.

\Ip_'—q‘—w,—r-'T_l_\/,3
> o N\

Which of the above figure is
embedded in the following
pattern ?
a) q
b) t

c) r

d s

e) Vv

Which of the above figure is not
embedded in the given pattern ?

a) p
b) q
c) r
d u

e) Vv

3ee DeRTOHE WBTW N yora) g1 IWsor
BB BESONT ?

woeeS JeRTHH B3 R ena) deBSON
WD Ford wAROY?
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17.

18.

Which of the above figure is
embedded in the figure given
below ?

a) r
b) s
c) u
d)
€)

Which of the above figure is not
embedded in the figure given
below ?

a r

b) s i

c)
d

€)

T &
4
<

ReBTHT BIBY, BB yRnE NeAT 3R
Pon=y) 81 BT LBERAS ?

gzg PRRG, deATOT cdna yens) N

USBY 2, ?
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5. Numbers in Opposite faces /283 2008308 Joadnwd

Directions: In ecach of the
following questions, select the
correct option for each of the
question asked.

Beudnd: Readdd JIRPY, sandgg
ARgen eodnd) rH3dr Bna.

19.

20.

21.

When number 2 is at the top,
which number will be at the
bottom ?

a) 1

b) 2 :

C) 4 .’.0. . ® ::
d 6 () )
Which symbol will appear on the

opposite surface to the

symbol x ?
a) +
b) =

c) A
d O @ (i)

Which number will come
opposite to number 2 ?

a) 5

b) 1 5 /4
c) 6
d) 3

) (ii)

"o, ‘I’ oeeqnuEO”T, ¥¥nd acLT
Rogd o0

a0t D0, R0DBE WEBd

‘2'4 BTN B0 WAOI ::‘oa%orm
[] @
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6. Unfolded to Folded / 38 @>@umn monin 38mn

Directions: Given questions are
related to cubes. A sheet of paper
as shown in the figure is folded
so as to form a cube. Identify the
formed cube.

RRwSnd: 33 39 doeitowm BB Pogen
FoLoDATR). WoTH BRTET m%*odoﬁgtzagde?ﬂ
ZRedATITOZ =B FIEICHR), BRI

GUOERNOE TIZB0RR, TeRLROWD.

22

23.

¢ ]

AlB A E D A
F c [t o (P s | e |S
D|E
x A ®) © ©

a) D only

b) B and D only

¢c) AandC only

d) C only
]

+
0 x v s 0
+ s 7 +« |®
;; § 7 @
® ® ® © ©

a) A and B only
b) D only

c¢) CandD only
d) B and D only
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24.

25.

1
6152 1 4 4 1
4 . |8 2 |3 5|2 s |2
E
Y A ® © ()]
a) B only
b) B, Cand D only
¢) A, BandC only
d) D only

® © o
A only
B and C only
D and A only
A, B and D only

NTSE GMAT 62




7. Paper fold and Punch / %rz a8 morie dog Snmad

26.

27.

28.

Directions: The following
questions related to how a sheet
of paper is folded and punched is

Reusndt: ToodI IR word Bnsd
BV, RS, Cofy BRBAFJT, WSTEL,
30e0)TI. s m@o&dg{m@&mﬁ BoROWTOR

shown in figures. If the paper is De80DR), 03RO LOA.
unfolded how does it appear.
Select from the options.
e
X M F
(a) {b) (© (d)
ol .
X -z
00 Oo 0 00 0
o o]
o° °o 0O °o‘ '_oo )
(a) (b) (c) (d)
ey 4
P X Y z
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29.

30.

..............

- { - veane :
vy )] N 55
Al —AAC EAA‘% EAAE
lovf] [laall s =vv
] = E
X L
PO > .
e O s O 0
(a) (b (c) @
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8. Mirror Image / @@ Z3wowrisd

Directions: In the following RS Boddoxm BINTY, Sednd
questions, there are figures to the PBTNEOTT WINY BT eo TBWOLNTY,
left of the mirror indicated by VOLRNGEY BABOND.  SBPREODE T
lines and their mirror images are WIE ROCIRE BT BEWowSRY, Beedtds
given, one of the four images to yodonver Lok,

the right is exact mirror image.

Find the correct image.

31.

32.

33.

0| |02 0T

e nactecarord

A @ ©®» © @ ©

{A) (@ () | © @ (e)

] PRI

(A) (a) (b) (©) @ @
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34.

3s.

J U/INO/ NI/ NN\
S s e|s S
= ? ) O ?
A) (a) (®) {©) (d) (e)
= x 0 O x O * Al= * O|+ O Al* O D
Al 1A = Ot A= %= A
o o _jt |o 1 t
(A) (a) (b) ) (d) (e)
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9. Similar figure in different position/ g mErYOR wodde desed w3

36.

37.

38.

Directions: In the given figure, 4 BRUERND: Bo0oRTHN BIRGEY, DeATHS W3

different figures are given along BT0RT U, APT, 080G, VeRTT .
with given figure. One is similar odoridd FoaiRE 8033 BoR>EBOD.

to given figure in different
position. Find the similar one
from the options.

4

A

AWKy

@ (© ()

<
b adab

/d
INENE N

@) (b) (c) @

NTSE GMAT 67



......

v

d

m
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10. Figure fold (Transparent Sheet) / ancatgrs méoim Sdumer evotwrba

Directions: In each of the
following questions, a figure
marked as transparent sheet is
given and followed by four
answer figures. One out of these
four ptions resembles the figure
which is obtained by folding
transparent sheet along the dotted
line. This option is your answer.

RAURSRD: eRTHT BINYQ Lowd> TCHBFs
TP, Ved OB Sowumen FoRddR
WP, VERTOT 4 BORLOT 20T W0
233, F003NT HLZTwNOZE. FVCIRT V3T
FoT) SBCD.

41.

42,

43,

e

_ (a) (b)
T "‘": ce
[} M A
AR R R
1 ! [
) R | -
(a) (b)

@ O

v o
i P
l} ' l?
{ i
gl B EO R
@@
B A
i ,:\ 1
Pl 1A
_——ad |
{©) (d)

—— e

() (d)

NTSE GMAT 69



PR R R R

A i i
~ i [
N\ - | W
// T | =
————
m- llllll )
N [
g 1
[}

A
/]

{©)

(©

-

llllll

/
A

)

®)

P R

4
rl_ .-_-..

P Ea

s - — -]

44,
45.
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Number Series

258, 155, ?
6+6+6 5+5+5  4+4+4
6+36+216 5+25+125 4+16+64

Answer: 84.

18 48 100 ?
33_32 43_42 53_52 63_62
27-9 64— 16 125 -25 216 - 36

Answer: 180

3.

1

39,

3+3°+3 2+42°+2°
3+9+27 2+4+8

294
77
343 — 4

24 126 129 134 141 ?
2 3 5 7 11

Answer: 152

5 3 10 8 17
2+1 22-1 33F+1  F¥-1 4+1

Answer: 15, 26

S.

1 6 6
3 3 10
1+3 6+3 6+10

16

Answer : 14 14+11=25

6.

11
59, 61, 67, 71, 73, ?
All are prime numbers.

Answer : 79

?

£-1 5°+1 5-1

14

9

? 24

21
15

21+ 15
36
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10.

11.

12.

13.

980
9,9° —1

863
8,81

Answer: 637 is wrong.

3

9 19

748
7,7 -1

33

637
6,6 +1

51

524
55-1

72 99

2x1P+1 2x2%+1 2x3°+12x4+12x5+12x6+1 2x7T+1

3 9 19 33 51 73
Answer : 72
2 10 35 68 130
1’ +1 2’ +2 3’42 4 +4 5+5
1+1 8+2 27+ 2 64 + 4 125+ 5
2 10 29 68 130
Answer: 35
3 4 6 9 12 14 18
2+1 3+1 5+1 T+2 11+1 13+1 17+1
Answer: 9[Prime number + 1]
4 10 18 34 74
4 x2+2 10x2+2 18x2+2 38x2-2
Answer: 34 (Wrong)
5 10 26 50 101 122 170
2’+1  F+1 5+1 7 +1 1°+1 13%+1
4+1 9+1 25+1 49 + 1 121+1 169+1

Answer: 101 [Square of the prime numbers + 1]

225,336, 447, 557, 669, 7710
Answer: 557

NTSE GMAT 73




14.

15.

16.

17.

18.

19.

) 2
/,_\/,_\
102, 99, 104, 97, 106, 2
\/\/
+2 +2

97 -2=095;
Answer: 2) 95

2 4, 12, 48, 240, ?

\>/\>/\>/\~>—/\>/
X2 X3 X4 X5 X6

Answer: 2) 1440

63-6=216—-6=210
Answer: 4) 210

2, 5, 9, 19, 37

\>/\_)_/\>_/\_>/\_>_/
X2y+1 x2)-1 x2)+1 x2)-1 x2)+1

37x2+1=74+1=175
Answer: 2) 75

40 120 60 180 90 7135

X3 X5 X3

90 x 3=270
Answer: 2) 270

0, 2, 6, 12, 10

0, 2, 6 12, 10, 20, 32, 46, 62, &0

ey Ty ey Ty Ty Ty Ty Ty Ty
+2 +4 +6 +8 +10 +12 +14 +16 +18

Answer: 2) 80
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20.

21.

22,

23.

24.

3,24,37,48,75, 7, 147

Answer:

+3 +] +5
PN ST ST

4, 5, 8, 13, 14, 17, 22

+1 +5 +3

Series increasing in the pattern +1, +3, +5.
If we continue we get the series.
+3 +1 +5

P AR P

4, 5, 8, 13, 14, 17, 22, 23, 26, 31, 32, 35, 40
sy e ey
+1 +5 +3

Observe options, 31, 32,35 ... are in series. There is no 33,

Answer: 3) 33

B2E D5H F12K H27N

2 5 12 27

Sy Sy Sy Sy
X2)+1 Xx2)+2 x2)+3 x2)+4

27 x 2=54+4=158.
Answer: 3) 58

Except 441 all others are square and cube numbers.

Answer: 441

4 6 8 10
25-(4+1) 49-(6+1) 81-@8+1) 100=10"
[10, 100 is wrong as per the rule.]

Answer : 10, 100
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25.

26.

27.

28.

29.

30.

31.

1, 4, 16

1> x Ja=2

4,26
4*=16 |61

2,9, 12 3, 16, 36 4, 25, 50

2 xV9=12 3 xJ16=36 4°x 25=80
Answer: 1) 1,4, 6

7, 94 5,52 6, 63
T'=49 |94 5°=25|52 6 =36=63

Answer : 1) 4, 26

2,3,17
3,4,43
4,5, 141
5,6, 161

2’ +3°=8+9=17

3 +4=27+16=43
4 +5=64+25=89
5 +6 =125+36=161

Answer : 3) 4, 5, 39

9:36
9x%x4

Answer : 3) 64

343 : §
@-1)

Answer: 4) 729

216 : 81
(2+-L+6f

16 :?
16 x 4

? :10
(10 — 1)’

144 : ?
(1+4+4)°

Answer: 1) 81 i.e. 9’

230
3 6

2 3 +3

3 . 22 + 2 ..
Answer: 3) —

6

2
6

o
" 30

6 + 6
524+ 5
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32.

33.

34.

35.

36.

7 : 56 9 o ?
~ — S~

X 8 x 10
9x10=90

Answer: 2) 90

289 : 343 ?
17° 7 16>
16 =256

Answer: 3) 356

34%17*72%12%5* 13
34=17+(72 + 12) x 5-13
34=17+6x 5-13
34=17+30— 13
34=17+17

34 =34

Answer:4) = + . x — [BODMAS]

2*¥6*4*%8*2*3
2+6x4.8-2=3

1
2+6% ,-2=3

2+3-2=3

Answer: 2)+ x . — =

26 * 40 * 20 * 4 * 6 * 48
26—40 = 20 +4 x 6 =48
26 —2+24 =48
24 +24 =48

Answer: 3) — + + x =

216
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37.

38.

39.

40.

41.

36+ 64 =100=10
a b c 5
36 10 64 50+71=121=11

50 11 2 44+ 100 = 144 =12°
44 12 100 B B

Answer: 3) 71. b = \a+c

a b ¢ 14 x 8 x 7=784
14 8 7
? 4 7 ?7x4x7="7T84

Answer:4)28. a x b x ¢ = Constant.

16 +11x2=8+22=30
a b c 2
16 11 30

1
? 13 36 EX?+13XZ=26=36

32 15 46 1
5 x 32 +15x2=16+30=46

Answer: 4)10 c¢ = %a+2b

3B 8 32+ 82 =9+ 64 =73
7 85 6 7" +6°=49 + 36 = 85
4 97 9

£+x"=16+x =97
Answer:3)9 x =81;x=9 b=a +c

a b c

126 8 62

244 11 123 126-62=64= §

337 ?7 81 2
244 — 123 =121=11
33781 =256= 16

Answer:4)16. b = .a - ¢
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42.

43.

44.

45.

46.

47.

321437865431389416
Answer: 1) 4

14358676512394812567
Answer: 1) 3

6 4 12 2 8 7 4215386 2 2 7
1 2 3 4

Answer: 2) 5

28
/N

at+b  4+24 28
2 2 2

Cc =

Answer: 2)

1I8+11+12+9 50

=— =3
10 10

Answer: 3) 5

14 13 5 8 6
5
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48.

49.

50.

31.

a
c=+a +vb c=+144+ 25
=121 + /81 =12+5 o
— =17
=11+49 b .
= 20
Answer: 2) 17
x2)-1 x2)-1 X2)-1
T T PN
3 7 13 27 53 107 213 ?
S~ ~ ~— S~
Xx2)+1 x2)+1 x2)+1 X2)+1
213 x 2 = 426 + 1 = 427
Answer: 4) 427
2
5 5 +2=27
7 7 +2=51
9 9|+2 =283
11 11°+2=123
Answer: 1) 123
Answer: 2)
1
5,12, 19
A|lB|C(C
Columns shift from left to right.
41 5% 6
D|IE|F|G|H[I J
718191101112 13]14]15
K|LIM[N|O|PF|Q
1o | 17181 1P (20
RIS |1
21
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52. Answer:4) C61J

53. Answer: 1) Linear movement.

54, >
1EZNE

2 6
HARIENE
41|15 16| 17]4g
3
5

1

23| 22| 21|20 | 49
25 26 | 27] 28 29 | 30
36 |35 34 | 35| 32| 31

X

Answer: 4 8 18 : 19 29 33

33, tl23]4|5]6
TN
13 g 15 | 16 [ 1] 18
2 23\2&/(20

2512627 (28(29]30
36 13534333231

Answer: 1)9 17 19 :21 17 7

Answer: 2) C, R

57- /mz

E C F B G A H 7 1

N NN A A

Answer: 2) Z
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58.

59.

60.

61.

62.

>
S
.
—

<

L s
e

>

Answer:4) 1 T

BOAT = 4+12+6+8 = 30
TAME = 8+6+6+9 = 29
GATE = 8+6+8+9 = 31
TENT = 8+9+12+8 = 37
Answer: 2) TAME

ATPOG = 6+8+16+12+4 =
BMNET = 4+6+12+9+8 =
PEGNO = 16+9+8+12+12 =

MAETB = 6+6+9+8+4 =

Answer: 3) PEGNO

ABGENO
6+4+8+9+12+12=51
Answer: 3) 51

R EERE
A Z B Y F UG T

3) x Lpo 4 X CVY B

Answer. ) KLPO

46
39
57
33
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63.

64.

65.

66.

67.

DCAT 3+1+20=24
2)LEG 12+5+7=24
3) JAM 10+1+13=24
HKIT 11+9+20=40

Answer: ) KIT

L
+4

C

+ 1

F H

+3

1)

+2

Answer: ¢) SUXCH

1)MNNMZN

D
3) |

O G W L T

=T ]

Answer: 1) MANMZN

576
20)°

CAT
3+1+20
Answer: 4) 676

DCOAGT :

Answer: )UILZCG

DOG
4+15+7 6Y

. FROAXT:

K L M
P O N
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68.

69.

70.

71.

72.

73.

WXYZ : DCBA :: JKILM

?
QPON

- «— —
e
Answer: 3) QPON
CEML : QS VvV 2z ::? PR UY
Answer: 4) BDLK
ABCD : HGFE :: STUV ?
- « - 2YXW
(_
Answer: 2) ZYXW
+3
7 ™
GPE : HTL :: ONM : ?
~N_ 7 7
+6
+6
TN
ONM: PR T
\_/’
+3
Answer: 3) PRT
e e e
APOC :?::1TSK: :MVUN
+1 +1

Answer: ERQF

—> —>
GOLDEN LOGNED
«—— «—

—> —>

Answer: LISREV
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74. BENGALORE I5R 1 T14Y 2 E 22
| iy

12 3 45 6 7 8 9 1011 1213
ABCDET FGHTIJKLM

NOPQRSTUVWIXY Z
1415 16 17 18 19 20 21 22 23 24 25 26

TUMZK UR 7 H26 X 8 E
Answer: 3) TH26X8E

75. ABC > 6 EFG-5210 JIM > 1170
123 1x2x3 567 5x6x7 10 9 13 10x9x 13
Answer: 4) 1170

76. SPANK——PSNAK

77, B E L I E F S E L D O M
IJ( +1l -ll +1l -ll +2 ll +1l -ll +Jl -JJ( +2
A F K K D 1 R F K E N P

Rule: -1+1-1+1+2
Answer: 3) RFKENP
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6

o ——> >
M —0 >

uy

s A

+4

< > H
= o O

ol

Ay

78.

Answer: 3) JRGPKF

o)

H

I

L R

F

Answer: 1) FLRIHO

M|v_ —
< —> M
O~ N

wvn—> H

m-— s m
>— =
€57

R|VS

Answer: 2) TZBJ

Answer: 4) OBDPK

FLOWER 579

82.

GARDEN 5 74+1+18+4+5+14=49

(Sum of position of letters from the beginning.)

Answer: 3) 49
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Answer: 4) METG

84. AGENT CANDTLE GLANTCE
R 2R IR 2R
5 6 3 4 7 1 54 8 9 3 6 9 5 4 1 3

Answer : 4) 695413

8s. EXAMINATTIONS
1234563758609
Answers: 85A) EXIST 4) 12597
85B) NATION 3) 637586
85C) INSTANT 1) 5697367
85D) 8465 — OMNI

85E) 9737586 — STATION

M O H A N C O U N T
[l el
K M F Y L A M S L R
Answer: 1) AMSLR

87, G A L I B T I G E R
Lol o]
H B M J C u J H F S

Answer: 1) UJHFS
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T E D Q

Answer: 1) UTHIS344

A~

n—-> Z

R%A

=z —

<
i

_—>
S m

Answer: 2) GERMANY

D
K N F T G P

J

E R C H I
+1l +1l +1l +1l +1l +
E

Answer: 2) EJKXNFTGP

ol
m
o
—
@
>
o &
S
o3
=
&«
:
< B
N
- &

—
Il
o
—
Il
v
+
4
+
on

92.

7+8+9=24=X

2+5+8=15=0

Answer: 2) 0
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Column 1 Column I

DOG 213
ROPE 4526
PIT 059
GOAT 3792
EAGLE 67368
GRIP 4035
DOG > 213
ROPE > 4526 2 0=2
ROPE > 4526
PIT > 059 2 P=5
DOG > 123
GOAT > 3792 » G=3
EAGLE - 67368 ~E=6
ROPE > 4526 *R=4

. GRAPE 534756
Answer: 4) A =17

. PARROT 5574429
Answer:2) T=9

GREAT 534679

Answer: 1)

Try yourself.
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97.

98.

99.

100.

be,
e \“f
; ik
s 4 f \S\ L
u g z|alc \‘c\
Answer: 2) ksc
b
< T
iy
: q r \S\ \thz
u ‘ V4 a C \\‘C‘
Answer: 1) eksc
b
e | f
: ik |x
q _.1’/ s |t
u £.M_Z a C C
Answer: 4) iqa
2 |4
N
4 ] 18
R
14 26
Z
20 23

7" letter i.e. g
1% letter i.e. a
9th letter 1.e. 1

Answer: 3) g
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101. Answer: 1) ai

102. By statement, the arrangment is

BePFOOT BRCET 8 DS [|TOR)TD.

Right

Left

F B D E

Answer: 4) A and F

103. John is faster than all

A

John
Alok

Kabir Suresh

Prakash

Answer: John

C A

RQON0S W' VORI,

104.  Right

Left

Answer: 2)

105.

P<—>Q

|
R Se > G

Sister Brother

Answer: 2) Uncle
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106. (Sister)

Son Rita
(Son) .

Answer: ¢) Niece

107 Lady — Brother

A)uple l

Man <—— Wife «<—— Son
(Sister) (Brother)

Answer: Sister of Father-in-Law

108. Married couple

(Father) (Brother)

Q P < T
S «<—— R
(Son) (Sister)
Answer: 2) Sister-in-law
109.
Father
Girl Uncle Daughter
\) Son (Boy)

Answer: Nephew

Rahul — Sarika —— Raju

AW
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110, Raju Uncle
11 years 59 years Years (Now)
11-x 59 —-x X years back

(59 —x) = (11 - x)7

59-x=77-Tx
Tx—x=T77-59
6x =18
x = 3 years

Answer: 3) 3 years

111. Time taken Displacement
5 steps + 3 stepss — 8s 2m
8s 2m
8s 2m
8s 2m
In the last 5s 5m and fell into the pit.

37 steps taken to fall into the pit.
Answer: 2) 37 s

112. Convert the given statement into diagram.

A
BePFod, WBoN TOWSFRBRS,. /,.
AF=5km/ .20¢. A B
e o
[Use Pythagorean triplets.] E — E. 5 km D
(Feortectrs sFeniv sudcdnent.) 5
oy
B@ 5 km c

Answer: 3) 5 km
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113.

114.

115.

E  10km D 5km A

10 km

[ @
C 5 km B

Answer: 3) 15 km

Convert the given statement into diagram.
TEPFODT, wWZzmoN TOBSFRERY,.
AC=10km/ 8.&0e.

[Use Pythagorean triplets.]

(FPorineca’sS §menvs), svmodeeny. )

Answer: 3) AC =10 km / 3.&o¢.

Son's age  Father's age

0 _xt+4

A bOkm o
o0
e
Birth time

-
x x+x+ 4 Present age

Father's present age 2x+4 = 36
2x =32
x = 16 years
Son's present age is x = 16 years.
5 year's back son's age is 11 years.

Answer: 4) 11 years.
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116.

117.

118.

Son's age  Father's age
X x+ 28 Present
x+20 (x + 28 + 20)After 20 years
(x+28+20) = 2(x+20)
x+48 = 2x+40
8 = x
Son's present age is x = 8 years.
Father's present age is x + 28 = 36 years.

Answer: 1) 36 years.

A — Once in 2 days

B — Once in 3 ays

C - Once in 4 days.
LCM of2, 3,4 is 12.

First visit is on Wednesday, After 12 days they visit the same village.

2
T 1+ 5 days. (5 odd days.)

-~ Wed. Thu Fri. Sat. Sun. Mon
1 2 3 4 5
They visit on Monday.

Answer: 2) Monday.

This is simple calculation. [TRORD RO SELTINS.
8.15pmto 12.00 — 3.45 hours | 8.15 c%00xm T8, 12.00 BITR —>

12.00 to 10.30 — 10.30 hours | 12.00 5038 ¥3¥NS 10.30833% —
13.75 hours

3.45 no.
10.30 no
13.75 ro.

Convert minutes to hours 14.15 min | @3 aQ AVORAPR, Rowdr TOBSFR23eBd.

ST ISR ¢UZT 14.15 DQOR.
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2ab _ 2(30)(20) _ 1200
a+b 30+20 50

119.Average Speed = = 24km/ hr.

2ab _ 2(30)(20) _ 1200 _ 24 $.20¢/7o.
a+b 30420 5¢

Answer: 2) 24 km/hr

AooR0 Jen =

120 Conclusion/decisions e odnsd
1) All pigeons ar peacocks — right «em nersh e — RO

2) All peacocks are pigeons — Wrongoen, 8eonish somdnsd — 3,
Ao
@amvﬁ%
Sl

Answer: 2) dercd 1 2R3, oshoxds.

121, Cats
Mammals Mammals
Dogs
O\ (el
Dogs Cats

Answer: 4) (2) and (3) only.
o030 1 dearod (2) sy (3) eroI.
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Liong
Trees

Q)O 0&

Answer: 2) Only I and IV follow.

122.

03T 1 eERFodd (1) B (4) L.

123. Wild animals  Carnivores  Elephants Tigers
FROBYNNED RIORTHOND e33nsb DO
e ;%”ﬂ' (2

Answer: 3)
124. Vegetables  Food Raddish Egg
rclof:plelpt=0) EGaple] RROON oot
$TRg
Answer: 1)
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125. Answer: 3) D
Lion
Eagle

Crocodile

O

126. Answer: 2)D

127. Answer: 4) E Actors  Dancers

&

Singers

Furniture
128. Answer: 3) E O
Door
Table
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129. Answer: 4) F
Roses

130.

Yellow Dresses

11

718
10 12
Triangles Answer — 12
1+2, 3+4, 1+3
5+7 6+8 1+3+5+7

3+5+7 4+6+8 9+ 10

9+5 10+ 7 6+ 11
11+6+4+3 12+8+7+5 5+3+4
1+3+5+9 2+4+6+11 10+7+8+12

1+3+5+7+9+10 2+4+6+8+11+12 3+4+6+8+7+5

Largest triangle = 1.
Totally = 12 + 27 =39
Answer: 1) 39.

2+4
2+4+6+8
11+ 12
8+ 12
7+8+6
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131.  Bigsquares I’ +2°+3’=1+4+9 = 14 "
Small squares =16 31415
4+5+6+7, 10+11+12+13 =02 617]8
9 |10] 11
Totally, 14 + 16 + 02 = 32 5113114
Answer: 3) 32 1516
132. Small trapeziums = 8 " >
1+2 143 2+4 = 3
748 745 6+8 -3 ) ;‘
5
142+3+4,  5+6+7+8 =2
Totally =16 ! 8

Answer: 2) 16

133. 1+2+4+5  4+5+8 \
5+6+7+8, 1+2+4+5+8 V

2+3+5+6+7+8, 1+2+3+4+5+6
Answer: 2) 6

134. Answer: a) 15; b)40; c¢) 13

135. Answer:2)48 ; 9+7+11+13+8=48
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Questions based on Figures
(From Page No.54 to 70)

33RY S03 TN

(D@ Ross, 54 doB 70T|/IR)

1. (b) 2. (b) 3. () 4. (d) 5. (e)

6. (¢) 7. (d) 8. () 9. (a) 10. (a)
11. (d) 12. (c) 13. (b) 14. (d) 15. (e)
16. (e) 17. (e) 18. (b) 19. (c) 20. (b)
21. (d) 22. (b) 23. (b) 24. (c) 25. (a)
26. (d) 27. (d) 28. (a) 29. (d) 30. (b)
31. () 32. (a) 33. (¢) 34. () 35. (a)
36. (a) 37. (d) 38. (a) 39. (d) 40. (a)
41. (d) 42. (a) 43. (d) 44. (a) 45. ()
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GMAT(K-10) Question Booklet SI. No.

NTSE
DEPARTMENT OF STATE EDUCATIONAL RESEARCH AND TRAINING

oz, méas NNE.E3.0%°.9. wacg neh —JP000° 2016
STATE LEVEL NTSE EXAMINATION — NOVEMBER 2016

%% — I/PAPER - | 33nd — 10/CLASS - 10
mmﬁﬁ 233@@5 mdazss? ﬁ@tﬁ /GENERAL MENTAL ABILITY TEST

REGISTERNO:|2 (4 |1 |1 |6

TS0 : 45 QTN "&OQ@W / 55&5 nogy wognss : 50
TIME : 45 MINUTES ENGLISH / KANNADA MAX. MARKS : 50

Instructions to Candidates
1. The Question Booklet containing 50 questions and the OMR answer sheet is given to you.
2. All questions are compulsory, each question carries one mark.

3. During the examination,
* Read the questions carefully.

* Completely darken/shade the relevant oval against Question No. in the OMR answer sheet,
using blue/black ball point pen. Do not try to alter the entry and not to do any stray marks on
OMR Sheet.

* Ex: In a question paper if No. 3 is the correct answer for Question No. 20, then darken in OMR
answer sheet shade circle 3 using blue/black ball point pen as follows.

2.0 2@ @ @ (This is an example only)

4. If more than one oval is darkened for a given question, such answer is treated as wrong and no
marks will be given.

5. The candidate and Room Supervisor should sign in the OMR sheet.

6. Candidate should return the OMR answer sheet only to the room supervisor before leaving the
examination hall.

7. The calculator, mobiles and any other electronic equipments are not allowed inside the
examination hall.

8. English version of the question paper will be considered as final, in case of any dispute arising
out of variation in translation version.

T8 : eIy B ot 85 PYTOD &e0gPITS, XVGTOIR,
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GENERAL MENTAL ABILITY TEST
mmaﬁ zs'azgg mdazsg wacg

(Questions : 1 -5) (géelﬁ% :1-05)
Directions : Complete the following number/ TRWEIND &raéidow TO3FoEODNYOT
letter/figural series by choosing the correct  Zpo333 mgdwm& =308, BPNT RO 239,/

answer from the given alternatives. Q__D?P /23308 \5)@8571*’5833& TREOFRADY.
1.1, 4, 5, 10, 17, 28, 53, 2, ? o, 1L 1 14 5 302
1} 58, 64 24’ 12’ 4
2) 64, 93 1) 150
3) 78, 118 2) 180
4) 82, 161 3) 210
4) 240
3.Z, Y, W, UUR, O, 2, G, B
1) K
2) |
3) H
4) J

& © @ @ -
©r O Cr

NTSE GMAT 103



GMAT(K-10) AU

2 by
20

®
&

(Question : 6) (554 : 6)
6. BRWR : BRI HNFTLOTI),
OPFTPEDF [P, BREITOB

&)

3) 4)

6. Direction : Choose and substitute the
correct set of signs in place of *

sequentially, selecting from the given 0350 WIBNY NEOWR), * WNDY

alternatives to make the equation 3330000 330D Te3eR) R0LNTI

meaningful - 2
git BOSTOF OPRPOT SOR.

90+100*10*100*110* 10
1) +, X, +,=,—
2) —, +, X, +, =
3) = X, +,+—
4) = +, X, — +
(Question : 7) (JB,: 7

7. BRWN : IR RRWATE DedodY

7. Direction : When the signs are changed
BBAGR, WTOXTN EeEI00T o3P

as shown below, which one of the given

equations will be correct ? AeNeFTER) BOOIPNBT 2
—t0 x -, x n
x to= X = i
=to+ = + A
+to = + 3301 + N
= to- + ® - A
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1) 96-24 + 36 =48 x 84 - 12

2) 96 +24 —36 + 48 x 84 =12

3) 96+24—-36=48 = 84 x 12

4) 96-24+36 x 48 - 84=12

(3, : 8)

8 %) amﬁaroba x@# A ONOTW BRATL

(Question : 8)

8. A student starts from a place A

towards East and reaches place B.
From there he turns towards South-
West and reaches place C. He then
turns towards South-East and reaches
place D. From there he turns towards
East and reaches a place E. He then
turns towards North and finally reaches
place F. Which of the following figures

VAT DI WO %# B R 3woabEms.
¥Qom [ThBE 3TN :g)ee‘ cn
Boahzes. So3s esﬁdeoﬁ a%ﬁ Shn
%# D O, Swe $Pon IR
QRO WO %eé ER Swoabees. oon
033 DR b FBR z.;e: F 3waad

shows his movement ? & 2903 oinz zag@ oD BOLT

T, RAWHIB 9

B A A B A B
F E C C E F F
C
D D D E
1) 2) 3) 4)
(Questions : 9—-10) (ZBnsd : 9 - 10)

Directions : In the following questions find
the missing letters in the given pattern.

Rudiss © 80300 DFERY VLD BT
©IoRYRD, BOLDS FERYR WdTTHN

FOTLBOWD.
i. ? T 49
? ? D 38
? F ? 46
51 36 | 46
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9. Find the missing letter in the third 9. SRTND FoPTY Qe BDRENTIT
column. I OTT, FORWLROWD.
1) V
2) S
3) P
H M

10. Find the missing letters inthesecond  10. HTEI0H ISP WY, BeENTHH

row. T TRYR, FOWWROWD.
1) Q,H
2) R,
3) UM
4) V,N
(Questions : 11 - 12) (ZBAsd 11 - 12)

Directions : A problem figure is given at the XPWRAW ! STERNGEY 2,00 TSR,
left side. Find its correct mirror image fromthe 80833, &3 ROCIRT WHFeo TSLIOLIWIY
alternatives. TR 0LRPOT BOREBBOND.

| BB
W P
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(Question : 13) (Z3, : 13)
13. A, B, C, D and E are the membersofa 13- A, B, C, D b3 E {%0onsd 2.0
family. DWOWT  BTFIL.
a) Acd :NS 50335?0 B o® 5033&5

1
a) The present age of A is 1— times
) P g 2 11033‘?&53.
that of B. 2

b) B o3 =[o®), C o3 F[oNAR

QTBTYR.
c) Cod» DNOZ 8 ST RBRBI.

b) B is twice the age of C.

c) Cis 8 years older than D.
d) Dis 1% times the age of E. d) D o3 [osmy E o3 [Wonaw
1
1503353:3.

If the present age of E is 10 years, thenfind E o3y 3308 Zod 10 ITe038 B 2DHD
the difference between the ages of B and D. DR = 033?;55 e oédﬁ&d 20T 2 B0mD.

1) 48 years 1) 48 BRSO
2) 41 years 2) 41TREAYL
3) 31years 3) 31 IR
4) 28 years 4) 28 [TIFNO
(Questions : 14— 18) (JBnsd : 14 - 18)

Directions : Complete the given number / ~ XR¥SAH : 3800 ToITeFr 0RO
letter / figure analogy by choosing the correct ~ RO LVSTHR, SOX, Bt FoaT, /
answer from the given alternatives. @gd/asgmmméémm& TPRF NP,

14. 441 : 7 : : 576 : ?
1) 6
2) 8
3) 12
4) 14
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13.
